
Assembly Instructions
Diva® Acoustical Shell 

6’ Tower Base

©Wenger Corporation 2015	 Printed in USA 07/15	 Part #188A323-01

Wenger Corporation, 555 Park Drive, P.O. Box 448, Owatonna, Minnesota 55060-0448 
Questions? Call.....USA: (800) 4WENGER (493-6437) • Worldwide: +1(507) 455-4100 • www.wengercorp.com

These instructions are for assembling the  
6’ Tower Base only. 
Refer to the original Diva Acoustical Tower 
Installation Instructions for the complete procedure.

Item Qty Description Item Qty Description
1 1 BOX,COUNTERWEIGHT,ASSEMBLY 8 7 SCREW,SELF TAP,HWH,1/4-20X1/2

2 1 COVER,COUNTERWEIGHT,ASSY 9 1 HANDLE,PUSH

3 8 NUT,HEX,JAM,1-8 10 1 PLATE,FRAME/C’WT BOX,WLDMT,RH

4 2 STL,BAR,THD,1-8 X 57.00,ZP 11 1 PLATE,FRAME/C’WT BOX,WLDMT,LH

5 8 NUT,LOCK,NY.IN,FULL,ZP,3/8-16 12 2 STOP,BASE,6’

6 8 CAPSCREW,GD5,ZP,3/8-16 X 1 13 4 NUT,LOCK,NY.IN,FULL,ZP,1/4-20

7 2 TUBE,SLEEVE,DIAGONAL BRACE 14 4 CAPSCREW,GD2,ZP,1/4-20 X 3/4

1

2

3

4

5

6

7

8

9

10

11

12
13

14
8


